Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

38 x 1072

60+ 1072

96 x 1072

9102

94 x 102

28 x 1072

8+1072

76 =102

551072

50 x 1072

67102

9x 1072

49 =102

801072

21 =102

2% 1072

211072

78 x 1072

92+~ 1072

99 x 102

MatesLibres.Com




Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

38 x 1072
0.38
60+ 1072
6,000
96 x 1072
0.96
9+1072
900
94 x 1072
0.94
28 x 1072
0.28
8§+1072
800
76+ 1072
7,600
55+1072
5.500
50 x 1072
0.5

67 +~1072
6,700
9x 1072
0.09
49 =102
4,900
80102
8,000
21+1072
2,100
2x 1072
0.02
211072
2,100
78 x 1072
0.78
921072
9,200
99 x 102
0.99
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